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Project Description

Our goal

Our goal was to further analyse the planet TOI-560c, discover
its orbital period, the distance between 1t and 1its host star, its
density and composition, and probably the most important
factor when discovering any new planet; its habitability, or its

ability to sustain living organisms.
Analysis

After following the steps that were taken during
the exploration of KEL'T-3B, we have our
results.

Step 1

The hirst step was to access its data, which we
did using alleshtter.

Step 2



The second step was to find its transit depth,
and 1ts size.

100.3F
100.2F ! s
- 25 "R
& 1001 subl E o8 g R
5 Dt LT . ;
7 & e 1 ' : :
ot A0 AT i R e~ " S . . < b .
E 100.0} e st Ns ke . £ el :
£ s AT el alle . R Ry L A
£ ] A HTE &
Ko . %d/ - PO —
S 99.9¢ - 57 A L P
YA o o . .3
et & A
23 st -
g9.g} * Datapoints . I '.l'x .
Model based on your first clues : i
Final results of your investigation
0.0 0.2 0.4 0.6 0.8
Time (Days)

The transit depth can be directly measured on the graph
above. It 1s somewhere around 0.1%.

Its size was determined using the following formula:

transitdepth
Rp = |Rs?x———
p 100

Where Rp 1s the radius of the planet;
Rs 1s the radius of the host star;

In our case, the radius of the star 1s known and provided
in the case file:

Rs=0.65 RSun

Rp = [0.65 0'1—0022
P= [FO9%100 =Y

We then converted the result to earth radn units by
multiplying the result with 109 (this 1s because the radius



of the sun 1s 109 bigger than the radius of the earth)
Rp=0,022 x 109 = 2,398

Step 3

On the third step, we had to find the orbital period and
the distance between the planet and its host star

The orbital period was known and again provided 1n the
case file.

1T=18.8797 days, converted 1n seconds, 1t's about
1631206.08 seconds

The distance was calculated using the following
formula:q = 3\/% X T?

G- gravitational constant

Ms- mass of the star

1= orbital period

We complete the equation with what we already know,
giving us the following :

X 16312062

d= 1[6.67430x10‘11m3kg‘1s‘1 x 1,45 x 1030
N 472

After converting mto A.U (astronomical units) the result

should be around 0.12 A.U



This number 1s comparable to mercury, which orbits 0.4
A.U from the sun

Step 4

On step 4 we had to determine the temperature and
habitability of the planet TOI-560c. Of course, this

planets temperature 1s way too high to sustamn life (or at
least life as we know 1t)

TOI-560c¢ has a temperature of 225 celsius

Step O
The last step was to find out its composition and volume

I
v
Volume can be calculated, assuming that 1t 1s a perfect

]I j— !33

V = 61867 km3

Lastly’ the density Wthh iS q= 58x1027Kg

" 61867 Km3

Conclusion:

TOI-560c¢ 1s a neptune-sized planet that orbits
very close to its host star. Its composition 1s
mostly made up of Helium and Hydrogen, it 1s



a gaseous planet OR 1f 1t 1s as similar to
Neptune as we think 1t 1s, 1ts composition could
consist of water, ammonia and methane. This
planet 1s not habitable, as 1t 1s far too hot for 1t
to sustain life.
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